KAFKA - Guided example

From c3 you see 4 rooms: all the doors in column c and row 3 have to be open.

The same for the space a3: the doors in the column a have to be open as well.

Since from b3 I see a3 and c3, I close the door between b3 and b2; since from c1 I see c2 and
c3 and from c2 I see c1 and c3, I close the doors between c1 and bl and between c2 and b2.
Since from al I see a2 and a3, I close the door between al and bil.

The doors between bl and b2 and between a2 e b2 stay open: the map is not complete.
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